For questions 43-50, complete the second sentence so that it has a similar meaning to the first
sentence, using the word given. Do not change the word given. You must use between three and
six words, Including the word given. Here is an example (0).
Example:
0 Femanda refused to wear her sister's old dress.

NOT

Femanda saidthat ............cccccieeiinierssessnasnsssssssasasasssres her sister's cld dress.

The gap can be filled with the words ‘she would not wear’, so you write:

Example: | 0 || SHE WOULD NOT WEAR

Write the missing words IN CAPITAL LETTERS on the separate answer sheet.

43 We didn't stay lcng at the party because it was very noisy.
SO

H et sirms s sanrs s ems e s s sanase s s eae sessnaness TIOISE, We Might have stayed longer at
the party.

44 The number of people applying for university grants fell last year.

FALL
There ...... vu 254 Vel B L A R +.» humber of people applying for
university grants last year.

45 Mr Conrad's son is becoming quite well known as an artist,
NAME
Mr Conrad's 80N is MAKING ....c.covveiriimemesnnrerassrasssarasssarunssasanmannnsesanass vemns himself as an
artist.
48 Would you mind helping me carry this heavy box to the car?
GRATEFUL

Tris Dooc s moally RORVY B0 1 .. oviiminsisiinsmmnmranssinssn srivnrmimeii vmsd i susssiion myishnpntn help me
carry it to the car.

47 'Excuse me madam, but is this your bag? the policeman asked.
BELONG

48 By the time we got to the sale, avery book had been sold.
SINGLE

By thetime we got tothe sale, there .........ceeicisniiniinsperissiism nsesssssais s sarnees « DO0K
left.

49 Rosa found it very difficult to persuade her boss to give her a pay rise.
GREAT
o7 1 P Tt S e S e .+ her boss to give her a pay rise.

50 The man claimed that he had been nowhere near the factory at the time of the break-in.
TO
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